Math 2431 – 101
Spring 2011 – Test 4 – Part 1
NAME__________________________________________________
NO electronic devices may be used during this portion of the test. Show all work. 
Answers without any work or explanation may receive only partial credit or no credit at all.
All questions are 6 points each except where noted.
If you need more space for work, please use the back of page 2 or 3.
For #1–4, evaluate the limit.
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NAME__________________________________________________ 
If you need more space for work, please use the back of page 1 or 3.
For #5–8, find f(x).
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9. Evaluate: 
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NAME__________________________________________________ 
If you need more space for work, please use the back of page 1 or 2.
10. Find the inflection point(s) for 
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11. Find the relative (local) maximum value(s) of 
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12. Find the interval(s) on which 
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 is increasing.
Math 2431 – 101
Spring 2011 – Test 4 – Part 2
NAME__________________________________________________
NO electronic devices (other than TI calculator or mathematica) may be used during this portion of the test. Show all work. All questions are 6 points each.

Answers without any work or explanation may receive only partial credit or no credit at all.

13. (10 pts) If 1200 cm2 of material is available to make a box with a square base and an open top, find the largest possible volume of the box.

14. Use Newton’s Method to find all roots of the equation correct to six decimal places: 
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. Start with an integer as your initial guess.
15. Estimate 
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 using six rectangles and midpoints (i.e., M6).
16. Estimate 
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 using ten rectangles and left endpoints (i.e., L10).
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